Hi

Thanks very much Louis, you have been of enormous help to me. None the less, the system which is a model of a mixing process (mash and water) is very unstable. It needs to deliver an approximately constant output density flow which should correspond to a desired set-point. Logically if flow of water (F_W, an input to the system) is increased, density should decrease. For one particular situation the required output density is 1100 and for the second case the desired output should be 1130. This needs to be achieved by varying the input which is the water flow valve (F_W) in the model. 
You have an idea, how it should be?? Again thanks a lot.
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Model Equation:
Doutput= 1/V∫[(FmashDmash) + (FmashDwater) - (Fmash+Fwater)*Doutput ]
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